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Find the distance between the points.

(1, -3) (-5, 3)
(-6, -3) (-4, -5)
(-1, -3) (-6, 4)
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Answer Key

(1, -3) (-5, 3)

(-6, -3) (-4, -5)

(-1, -3) (-6, 4)
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(L - -5° + (-3-37°=¢"
62 + (_6)2 — C2
36 + 36 = ¢°

72 = ¢°
\NT72 = c
642 = c

(-6 - -4 + (-3 - -5)* = ¢’
(_2)2 + 22 — Cz
4 + 4 = ¢

8 = ¢
8 = c
242 = C

(-1 - -6 + (-3 -4 =¢
52 + (_7)2 = 2
25 + 49 = ¢°

74 = ¢°
\NT74 = c
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Find the distance between the points.

(-1, -1) (2, -3)
(3,4) (0, 1)
(-3, 2) (-1, -6)
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Answer Key

(-1, -1) (2, -3)

(3,4) (0, 1)

(-3, 2) (-1, -6)
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(-1 -2+ (1--3)°=¢c
(_3)2 + 22 — C2
9 + 4 = ¢

13 = ¢’
V13 = c

B-0°+(4-1)°=c
32 + 32 — CZ
9 + 9 = ¢’

18 = ¢’
V18 = ¢
3\2 = c

(-3 - -1 + (2 - -6)° = ¢?
(_2)2 + 82 — C2
4 + 64 = ¢

68 = ¢°
\68 = c
2417 = c
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Find the distance between the points.

(-3, 4) (3, -2)
(3, -4) (-6, -2)
(-3, 1) (4, -6)

Online Maths Tutoring

https://clueylearning.com.au




Answer Key

(-3-3°+ (4--2°=¢c

(-6 + 6 =cC

36 + 36 =c¢c

(-3, 4) (3, -2) Sy - @
N72 = ¢

62 =C

B3--6) +(4--2°=¢c

¢ + (2 =c

81 + 4 =C

(3, -4) (-6, -2) a5 _ @
/85 =c

(-3 - 47 + (1 --67°=¢

(7Y + T =c

49 + 49 =C

(-3, 1) (4, -6) 08 = &
V98 = ¢

7?2 =c
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Find the distance between the points.

(0, -2) (-5, 2)
(-5,-2) (-1, 2)
(3, -4) (-6, -2)
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Answer Key

(0, -2) (-5, 2)

(-5,-2) (-1, 2)

(3, -4) (-6, -2)
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(0 - -5 + (-2 - 2)° = ¢
52 + (_4)2 — C2
25 + 16 = ¢°

41 = ¢°
41 = c

(-5 - -1)% + (-2 - 2 =¢°
(-4° + (4 =c
16 + 16 = ¢

32 = ¢
\32 = c
442 = C

(3--6°+ (-4--2°=¢c
92 + (_2)2 — C2
81 + 4 = ¢°

85 = ¢°
/85 =cC
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